
SECTION-A

Note: Very Short  Answer type questions. Attempt any 
15 parts.  (15x2=30)

Q.1 a) Evaluate 

 b) Find modules and conjugate of –2+3i

 c) Find x, log (x+2) = 110

 d) Evaluate log 2564

 e) Evaluate 3 + 5

 f) Evaluate 10p2

 g) The number of terms in expansion of
-7

(x+2)  is _________.

 h) Find minor of a  and a  in21 22

 i) Define zero matrix with example.
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 j) Find transpose of matrix A=

 k) Evaluate Cos 50 Cos 10 – Sin 50 Sin 10

 l) Express Sin14 + Sin2 as product of 

trigonometric reaction.

3— m) Convert  in degrees. 
2

 n) Convert (–1, 1) in polar Co-ordinates.

 o) Find slope of line passing through two 
points (7,5) and (3, –1)

 p) In triangle ABC, A=30° and side 

AB=12cm find BC.

 q) Write the equation of circle when end points 
of diameter are (x  y ) and (x  y )1 1 2 2

2 2
 r) Find center of circle x +y –3x–7=0

 
SECTION-B 

Note: Short answer type questions. Attempt any ten 
parts   10x4=40

Q.2 i) If Z = 2–3i, Z  = 4–5i, find    also write its real 1 2

part and imaginary part.

 ii)  Find x,y when (2x–3) + (y+3)i = 5–3i

(2)

–25
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11 14 22+ - iii) Prove that log — log  — log —5 3 15 
= log7

 iv) Find n, when n +1 = 12 n -1 
7

th 3a + 1 v) Find 5  term of  in Binomial——
2a

  Expression.

 vi) Solve,   3           =              +

–1
 vii) Find A  when A = 

 viii) Prove that tan70° = 2 tan50° + tan20° 

—
 ix) Prove that  3 Cos23° + Sin23° = 2 Cos53°

 SinA + Sin3A 
 x) Prove that —————— = tan 2A 

CosA + Cos3A

 xi) Find Sin2A, when CosA = 5/13.

 xii) Find equation of line passing through (7,–3) 
and (5,1) 

 xiii) Find point of intersection of two lines 
4x–7y=11, 5x+2y=7

 xiv) Find equation of circle with center (2,5) and 
is passing through (1,3)

 xv) Find radius of circle whose equation is

2 2
  2x +2y  – 6x+8y –1=0

(3)

SECTION-C 

Note: Long answer type questions. Attempt any three 
questions.   3x10=30

Q.3 If A =                B=                C=         Find 

 A+2B–3C 

Q.4 If x is numerically so small that square and 
higher powers of x is neglected then

 Find the values of a and b.

Q.5 Prove that Cos6° Cos42° Cos66° Cos 78° = 
1—

16

Q.6 The angle of elevation of rock from top and foot 
of 100 meter high tower are 30° and 45° find 
height of rock.

Q.7 Find equation of circle passing through points 
.(–1,–1) ( 2,0) and (4,2).

(4) 170012/120012
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

   

  (15x2=30)

 a 

b –2+3i

c x log (x+2) = 110

d log 2564

e 

f 10p 2

-7
g (x+2) ________

h a a 21 22

i 

(5)

j A=

k Cos 50 Cos 10–Sin 50 Sin 10 

l        Sin14 + 

Sin2

3—m 
2

n (–1, 1)

o (7,5)(3,–1)


p  ABCAB=12A=30°
 BC 

q (x  y )(x  y )1 1 2 2



2 2r x +y –3x–7=0



10x4=40

 i Z = 2–3i, Z  = 4–5i, 1 2


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ii (2x–3) + (y+3)i = 5–3ix,y

11 14 22+ -iii log — log  — log —5 3 15 
= log7

iv n +1 = 12 n -1 n 
73a + 1v  ——

2a

vi 3 =          +

–1
 vii A =A 

viii)   tan70° = 2 tan50° + tan20°

—  ix)   3 Cos23° + Sin23° = 2Cos53°

SinA + Sin3A 
x) —————— = tan 2A

CosA + Cos3A

xi) CosA = 5/13Sin2A

xii)     (7,–3)
(5,1)

xiii) 4x–7y=11, 5x+2y=7


xiv) (2,5)(1,3)


(7)

2 2
xv) 2x +2y  – 6x+8y –1=0





        
3x10=30

 A =             B=                C=

A+2B–3C

 xx


 

 ab

  , Cos6° Cos42° Cos66° Cos 78° =  1—
16

 100
30°45°


. (–1,–1) ( 2,0)
(4,2)

(8) 170012/120012(30620)
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